' CUET Mathematics Solved Paper-2023 ‘

SECTION: COMMON

1.

The degree of the differential equation

A= f o N
() -5 =
@ 1 ®) 3
© 2 @ 4

The solution of a LPP with basic feasible solutions
(0, 0), (10, 0), (0, 20) (10, 15) and objective function
Max Z=2x + 3yis:

(@ x=0,y=20, Max Z =60

) x—10,y= 15,Max Z=65

(¢) x=10,y=20,MaxZ= 70

@ x=15,y=10, Max Z=60

27 3-x
If Ly 0, then the values of x are :
(@ land3 (b) land2
() 2and3 (d 3and0

In a meeting, 70% of the members favour and 30% oppose
a certain proposal. A member is selected at random and
we take X= 0 if he opposed, and X = lifheis favour. Then,

EX)is:

) 1
@ 7o ® 3
1
© 3 @ 3
dy :
Ify= +1,then—-2‘atx=21s:
2
@ 3 ® -

oo | W

o) o= @

o ()

(@) AJV,BIL,CLD-I

Held on 25 May 2023, (Shift-1)

1
Iff(x)=;—;,then forx>1, f(x)is:

(@) decreasing
(c) increasing

(b) constant
(d) neither decreasing nor
increasing

1.5
'[ [x]dx, where [x] denotes the greatest integer function
0

< x,1is equal to:

1 1
@ 3 ® 3
© 1 @ 0

In a box containing 100 bulbs, 10 are defective. Then the
probability, that out of a sample of 5 bulbs none is
defective, is:

@ 10 | ’(b) [%]5

Match List-I with List-II

List-1 List-II
A. Maximum valueoff(x) L 6
= be 143 :
B. Minimumvalueoff(x) I 5
—(@2x-12+5
C Maximum value of f(x) DL nomaximum value
=6-x*
D. Maximum value of/(x) IV. 3
=x3+1

Choose the correct answer from the options given below:
(b) A-ILB-IV,C-LD-I

(© ALBILCILDIV (&) AJLBILCIV,DI
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10.

11.

12.

13.

14.

15.

The differential equation %4.2(- =05 represeﬁts the

v
family of curves:
5 X
@ x -y =C () "§=C
(¢) xy=C @ x2+y*=C

If matrix A is of order 2 % 3 and B of order 3 x 2, then
(a) AB,BAbothare defined and are equal

(b) ABis defined but BA is not defined

(¢) AB is not defined but BA is defined

(d) AB,BAare defined but are not equal

X2 y2
The area enclosed by the ellipse —-+~5-= lis:
: 950
@ 5= (b) 4=
3
() 18=n d ‘2"TC

The programming problem Max Z=2x+ 3y subject to the

conditions 0<x<3,08y<4is:

(a) notan LPP

(b) an LPP, with unbounded feasible region and no
solution

(c) anLPP, and Max Z=18,atx=3,y=4

(d) anLPP, and Max Z=12,atx=0,y=4

IfA is a square matrix of order 3, B= kA and [B|=x |A| then,

@@ x=2k ) x=k
© x=k? @ x=3k
0o 1 -3
The matrix A= ~1,0 Dlse
0= 0

(a) Diagonal matrix

(b) Symmetricmatrix

(c) Skew-symmetric matrix
(d) Scalarmatrix

SECTION: CORE MATHEMATICS

1.

Match List I with List II
List-I List-IT
A. The area of | Bl
parallelogram
determined by vectors

2i and 3

B. The value of (i x])-k+ I 4
C. The value of a for {0
which the vectors
2i-3j+4k and
ai- 63 +8k are collinear

D. The value of A for V.76
which the vectors

2§+3+f< and

2= 43 +k are perpendicular

- Choose the correct answer from the options given below:

(@ A-LBALC-II,D-IV (v) A-ILB-LC-ILDIV
(¢ ALBIV,CII, DI (d A-IV,BLCI,D-I
The derivative of sin (tan~! €?¥) with respect to x is:

2¢** sin(tan ™" ¢%*) 2¢%* cos(tan ! e2*)
(b) 4x

Lia® 1+e

@

2¢* sin(tan™! ¢**) 262X cos(tan”! ¢2¥)
(c) 2 (d) 2x:

1tet 1+e

0 x+y 1
3 72
-y 2. 0

If the matrix A= is skew symmetric,

then:
YRy e ] 750
() x=-2,y=-1,z=0

® x=2,y=2,2=0
d x=-2,y=-1,z=-1

dy
Particular solution of the differential equation log (Ex—j =

x+7y, given that when x =0, y=01is:

(@) StelP &) e*ro/t2

© & +rei=2 @) e-tei=2 :
IfA is a square matrix of order 3, then |adj Al is equal to:
@ Al ®) AP

© AP @ 3lAl

Two dice are thrown simultaneously. If X denotes the
number of sixes, then the variance of X is:

5 7
(@) T () T
1 2
© 3 @ 3
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10.

11.

If three points A(al, b)), B(a,, b,) and C (a3, by) are

a1 bl 1

ay b2 1

collinear and D = , then:

az b3

@ D=0

() D=%1

() D*=0orl

(d) D=(a;ta,+a)—(bjthy+ b,)

The area of the region bounded by the lines x = Dy 3,
x=0,y=1andy=-11is:
(@) 4sq.units (b) 6sq. units

3
() 8sq.units @ 9 sq . units

The feasible region of an LPP Max Z = 3x + 2y subject

tox>0,y=0,x—-2y<3is:

(@) Bounded in first quadrant but has no solution
(b) Unbounded in first quadrant but has a solution
(¢) Unbounded in first quadrant and has no solution
(d) Bounded and hasa solutionx=0,y=0,z=0

x-—1
The function fix) =— =7 .xaki (1) = 1, is

x(x2 —1)
discontinous at
(a) Exactly one point (b) Exactly two points
(c) Exactlythree points (d) No point
Match List I with List IT
ListI ListII
Sl -1 x
A: Sinh X +cos X, L 5
x €[-1,1]
. b
B otap! \/? = 1N 3
ot 1B
CcoS 1 (COS 1'3—75‘) s
c P 1L >
sin”! (— -1—] I\ =
D. 2 : &

Choose the correct answer from the options given below:
(@) A-ILB-L CIV, DI (b) A-IV,B-],C-IL,D-II
() A-I,B-I, C1V,D-I (d) A-LB-ILCIIL, D-IV

12. Probabilities to solve a speéiﬁc problem by A, Band C

1o 1
are—, and . respectively. Probability that at least one
will solve the problem is:
1 1
e oy -
3 3
@ = @ 7

13. LetA={1,2,3} . Consider the relation R={(1,1), (2, 2),
3,3),(1,2),(2,3),(1,3)}. ThenRis
(a) reflexive only
(b) reflexive and transitive
() symmetricand transitive
(d) neither symmetric nor transitive

14. Solution of % —(1+x2) A+y?)is:

3
(@) tan“1y=x+§3—+c

3
(®) tan’1y=x—x?+c

3

X
e e
3

© tan”! V=X

3

X
2O CL%
3

(d tan ! V=X

[ [ d
15 [ 1-x* + 1-y2 =a(x—y),then£;—=

ox" 1y
e
® 1,2 ® |2
T-x" g,
@ i @ {1y

V 16. Ifaline makes angles 90°, 60° and @ with x, y and z axis

respectively, where @ is acute, then value of 9 is:

BN

@ L ®

@

wla
oA
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17. The area of the region bounded by the parabola y? = dax B. Equation ofline passing thréugh (1,2, 3) and parallel
and its latus rectum is: to the line given by
422 : 8a2 4 x+3=4—y=z+8. x—l_y—2_z+3
(@) sl units (b) i units 3 5 5 3 G ney
C. Equation of line passing through the origin and
2a’ : 9a* :
©) -—:—— sq . units d ——2—;_—~ $q. units (5.-2,3) is ¥y =
5 29,3
Lot Nait 0 D. Equation of plane passing through the point (1,2, 3)
‘e o and perpendicular to the line with direction ratio's
18. IfA=|"5" °°g : and Bis a square matrix of order 2.3,-1is 2(x~ 1) +3(y—2)-1(z-3)=0.
E  Equation of plane with intercepts 2,3and4onx,y
3, then |AB] is equal to: and z-axis respectively is 2x +3y +4z=1. :
‘ @ [BP ®) B Choose the correct answer from the options given below:
) sin20B| @ cos20[B| (@ A,Eonly (®) A,C,Donly
19, If £: R - R is defined by/(¥) = sin x-+x, then £ (/(x)) is: @) &1, E el () Bonly .
S 5o 0 24. The linear constraints, for which the shaded area in the
@ sm)‘( " ®) .51'n ik . figure is the feasible region of an LPP, are:
() sin(sinx+x)+sinx+x (d) sin?x +2sinx +X y
A
( 1+x+ 22\ o
t s
gl o e w
504
L/
- = 40T
@ x+e™ *a4c B ™ 2Ly 4 i
=Y tan'l ¥
© o T+c @5 e - (30,20)
21. A manufacturer can sell x items at a price of ¥ 3X+35 each. 104
The cost price of X items is Z x2 + 5x. If x is the number of - / #ie
items she should sell to get n(zb}))roﬁt ar(l)d no loss, then: T 1'0 2'0 3'0 50 610 3
(@ x=10 x=3
(© x=0 @ x=—10 4 '
5 Thoungebobweasiionin ek ,
¥ = = e
e angle between the line — 5 6 G iy ® )2£+y5>5(§0
= X+yz2
plang 2x+ 10y—11z=5is: . >2:y+2y0_ s xy=0
S8 ' g x+y<50 x+y=50
(@ 9% ¢ (E) () Bl (‘ﬁ) © 2x+y <80 @ 2x+y =80
X,y20 x,y20
: 25. The approximate volume of a cube of side a metres on
21 el ; o in sl
© % (g @ sin g increasing the side by 4% 1s:
(@ 1.04&m’ (b) 1.0042°m’
23. A. Equation of the line passing through the point (© 1.12a3m? @ 1.1222m?
SR - ) e
(1,2,3) and parallel to the vector 3 +2j- 2K is 26. Themaximum slope ofthe curvey =~ +3x+ 9x-271s
@ 0 b 12
(c) 16 @y 32

xlL y——2=z—3
3 2 -2
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27,

28,

29.

Match List I with List II
List-I List-II
_ 30.
A [——dx PR
1+ cosx
g 1 i IL log(logx+1)+C
1-tanx
tan™! x :
C dx . -log|l+cosx|+C
1+x
| ! 31.
e dig Eofers
R J.x+xlogx g 9 20g
| cosx —sinx | +C
Choose the correct answer from the options given below:
(@) A-ILB-II, C-IV,D-I (b) A-ILB-IV,C-I, DI
(¢) A-LB-LCJILDIV (d) A-IV,BI C-ILD-I
Which of the following statements is NOT CORRECT. 32.
(a) Arow matrix has only one row.
(b) A diagonal matrix hasall diagonal elements equal to
Zero
(¢) A symmetric matrix is a square matrix satisfying 33,
certain conditions.
(d) A skew- symmetric matrix has all diagonal elements
equal to zero.
cos® sinf _
Ifthe matrix A=| _ 8 c0s0|° then A2 is equal to:]
cos20 sin20
@ | _sin20 cos26
34.
cos2@ sin?0
®) _sin20 cos?®
sin 02 35.
© cos6?

@

cose2
—sin®?

cosO+sin® cosO—sin6
sin®—cos® cosO+sinb

sin(tan‘1 x+cot”! x)

Value of ¢

sin(sin_ X+cos x)

(@ O

c) 1

The range of the function f(x) =

1
@ |33]
13
o [543l

The equation of the tangent to the curve y = x2-2x-3

» XE [_1) 1]9 is:

®)

oA

s
@ -3

i}
3—sindx

1
®) [5’1}

1.3
@ [E’Z]

which is perpendicular to the line x +2y +3 = 0,is

(@) 4x-2y=7
© 2x-y=3

The solution of the differentiable equation

dy 3
x—+y=14x",x>0, i
dx 4 . 3

1
(@) y=2x> +cx2

1

© y=2x+cx 2

Let the vectors d=i-3j+2kb=2i+j-k and

)y 2x—y=7
(d) 4x-2y=5

1

3 iex2

o) I =%

1
(d y=x>+cx 2

i 5} — 2k be coplanar. Then A is equal to

@ -1
) 2

A coin is tossed 7 times. The probability of getting at

least 4 heads is:

@ 3

N

©

@ 1

@ 2

Nlw

(b)

ol B

@
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D

1. (¢) Sincehighest order term have power 2, hence degree
of the given differential equation = 2.
2. (d) Given Z=2x+3y
At point (0, 0), Z(o, 0= 0
At point (10, 0), Z 5 o) = 20 9.
At point (10, 15), Z 15, = 65
) - (which is maximum value of z)

2 3—x
b 1
=2-x3-x=0
=x2-3x+2=0
= x=1,2:

3. (b) Given

=0

4. (a) X 0 1 | Total

P(X)

70 70

XEPEH 20
) 100

208 1 ' 10.

11.

1 L
) f(x)—a“_j)ﬁf(x)—

Since f'(x) is positive V x >1

= f(x) is increasing for V x >1 13.

1 1 1.5

t
7w JWd=[©d [0 dx
0 0 o

15
= | de=[x]}° =1.5-1=
1

l\)'l —

8. () n=5
X (No. of defective bulbs) =0, 1, 2,3, 405

10 1 1 9
=—and g=l-—=—

P=T00 " 10 1010

" Hints & Explanations

(s x)2 ' 12.

-

. p (none defection) = p(X = 0)
0 5 5
SOBEG
10/ \10.)1 \10
@) '

(A) 0<|x+1|<o=>-0<—|x+1|<0
= —wo<—|x+1|+3<3
= —o0< f(x)<3
— Maximum value of flx) is 3 = (A —> 1V)
B) 0<(2x-1)2 <o=5<(2x-1)>+5<®
= Minimum value is 5 = (B — II)
(C) 0<x?<0=> —0<—x’<0=>-0<6-x" <6
— Maximum valueis 6 = (C —> I)

D) S o et aiboralcioers 00 b Ik

= flx) have no maximum value = (D — 11
dy x

(d) :1;+;=0:>ydy+xdx=0
= j.y dy+jxdx=0

s ey
.

S ty=0

I . C
3

(d) Matrix multiplication Apxn * Bpxq 1s possible iff

p =m. Hence Ay Ba,y and Bi. - Ay, both are
defined but it is not necessary that 4B and B4 should
be equal. '

(b) Area enclosed by the ellipse
= 1 (major axis) (minor axis)
=7 (9) (6) = 54m.

(¢©) GivenZ=2x+3y

¥
A X523
x=0
75 C
0,4) (3,4 A
A B|(3,0) :
"~ (0,0) y=0
¥ .
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14.

15.

Rectangle ABCD is the bounded feasible region.
At A4(0,0),Z=0
AtB(3,0),Z=6
At C(3, 4), Z= 18 (which is max. of Z)
At D0, 4), Z=12
(¢) Given|B|=x|4]|

=|KA|=x|4| (:B=KA)
= K3|4|=x|4| (. Aissquarematrix of order 3)
=>x=K.
0 1 &3 0. wiemleed
Ad=|-1 0 o0 [2A<)1 0i0|=-4
©
3000 3000
—> A is skew symmetric matrix.
SECTION : CORE MATHEMATICS
V)

(A) Area of Parallelogram = | i i 6k|=6
(A > 1Y)
B) (x))-k+(Gxk)-i=kk+1-1=1+1=2
B -]
(C) Since (af — 6] +8k) and (2i -3 +4k) are collinear.
a -6
Hence, ==—=>a=4 (C - 1)
5 3
(D) Since (21 + j+/) and (2f ~4] +1k) are
perpendicular.
Hence (2?+}+l€)-(2§—4}'+7d€) =0
—4-4+1=0=>A=0 (D — 1D
(b) Let y =sin(tan"! &**)

dy _ cos(tan ! 2 Yoe'k 2
dx (62X)2 +1

e dy 2¢%* cos(tan™ ez").
dz et
(¢) Since 4 is skew symmetric = AT =—A.

0 3 (x=¥) 00 by o
. (xky) =z [2TARIRD zii 2
1 2 0 Fley 2ol O

by comparison we get, x +y =-3 andx—y=-1
=>x=-2,y=-1

Since 4 is skew symmetric

= diagonal element will be zero

=2z=0.

4 @ 1og(§xy-]=x+y:>%= et

= eVdy=dx=>-e? =" +C
Whenx =y=0then-1=1+C=>C=-2
Hence particular solution is e* + e =2.

(b) If4,, is invertible matrix then ladj 4| =41
= [adj 4| = |4 P~ =4} (v n=3)

(@ n=2
X (No. of sines) =0, 1, 2
L
p . q 6
Vari =n, —2xlx§——5— '
ariance = P9 6 i
(a) IfA(a,, b)), B(ay, b,) and C(a,, b,) are collinear then
0 bl 1
| az b2 1i= 0 =D= 0.
as b3 1
y=1 y=1
(b) Required Area = [ xdy= [ @r+3ay
y=-1 y=-1

=[y2+3y:ly=1 2 (133)-(1-3)=6.
y=—1

(c) Plotting given constraints, we geta unbounded region
in first quadrant.

Clearly Max z = 3x + 2y has nosolution in the shaded
region.

(1+h)-1

=lim f@+h)= lim —————5——
10. (a) RHL =15, ; hl—%(1+h)[(1+h)2—l]

= liim; = Jim
= RHL = M0 e 2) o0 1+ h)(h+2)

1
= RHL = 3 # f(1) = flx) is discontinuous at x = 1

= f(x) is discontinuous exactly at one point.
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11. o
® ‘ [ il (A—BH
4 =a| 2cos -sin
A) sin”! x+cos” x= 32 (A — I 2
A-B 1 (]
(B) tan™’ 3 —cot™ (—3) - tan(————-z )=;:>(A—B)=2tan 1(;)
=tan”! (ﬁ) —m+cot ] (\[?;) ; 1
e sin”! y= 2tan”! [—}
L=l @I .
3. e o Differentiating w.r.t. 'x', both side, we get -
cos™! (cos -1—3—13) =cos ! [cos[zn +Eﬂ —‘—1——‘——1—@1 =
© 6 6 1 olto2? 1—y2 dx
o T
=c0s 1(005"6‘)=—6' = (C > IV) . L
dx 1—x2
(D) sin~ (-—-—) = —sin'l (-;—) = —% =0 » I 16. (a) Let a.=90°, B =60°v=0
Since cos? a+cos? B+cos” y =1
1 1 1
12. (d) Given P(D =7, P(B) =7 POy == 2
: 3 4 (1) 2
= 0+|—| tcos =1
(Probability that at least one will solve the problem 2
= 1 — (Probability that no will be able to '
solve the problem) — cosO= N3 e
2 6
=1-[1-P(A)][1 - PB)[1 - P(O)] \
17. (b) ABis latus rectum.
L 1_(_1_ [2 Ej b »
2 )\3)\4) 4
13. () Given R=+{(1, 1),(2,2), Q. 3.1 042%:3), (1, 3);
R is reflexive because (1, 1), (2, 2), @3.3) R
Now since (1,2) € R but(2, 1) ¢ R = not symmetric.
Again now, since (1, 2)and (2,3) eR= 1,3)eR.
Hence R is transitive.
d
14, @) =02+
XTa
¥ = dx
. ) Required Area 21y
:>jl+y2_j(1+x ) dx .
3 x=a 8 ’
-_—>tan”1y=x+£—+C. 5% .[ \/ZE-J;dx=—3-a '
3 x=0
15. (b) Given e +,{1_y2 =a(x~y) cos® sin® O
Letx=sin4 andy=sinB 18. (b) |4|=|—sin@® cos6 0 =cos® 0+sin20=1
0 0 1

= \1-sin? 4 +V1-sin® B = a(sin 4—sin B)

A+B) (A—B]
-cos
2 2

= 2cos(

Now, | 4B|=|4||Bl=D)|B|=|B].
19. (¢) f[fx)]=f(sinx +X)

= sin (sin x + x) + (sin x + x).
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2 5
20. (@) Let 1= (liﬁ—zx—].e‘a“ * dx
1+x

1

1+x

-
Again, let ®* F=t= dx=di

2
I =j'(l+tant+tan2 te' dt
=Iet ~tantdt+_“et -seth

=.[et -tant dt+[e’ tant—J.et -tant dt]+C

=1
=xefl P
21. (¢) Selling price ofx items = x- (3x+5)= 3x2 +5x
Cost price of x items = x + 5x
Since there is no less, no profit.
Hence, x*+ 5x=3x*+5x = x=0.
22. (b) The direction ratio of given line is (3, 2, 6).
The direction ratio of the normal to the given plan is
(2,10, -11).
Hence required angle can be given by

100+ ECI
JO? + @ +(©7@? + 10 + 1D

sin 0

! 8 oS
sinf=—=0=sm | — |
- 21 ( j

21
23. (b) .
(A) Givenx, =1,y =2,z,=3and direction ratio is @ =3,
b=2,c=-2
AR A gend z-3
Hence equation line 1s T s = 5

Therefore, statement (A) is correct.
(B) Givenx,=1,y,= pod et and direction ratio isa =3,
b=5,c=6.

o pd3 123
5

Hence equation of lineis —— ="~ =7

3

Therefore statement is incorrect.
(C) Givenx,=0,y,=0,2,= 0 and direction ratios are
a=5—0=5,b=~2—0=—2,c=3—0=3.

X8+ X

Hence equation of line is & = -2) %
Therefore statement is correct.

{D) Given.x; = 1Ly = 2.z, = 3 and direction ratio of
normal to the required plane a=2,b=3, ¢ = -1
Hence required plane is

L2 H)+3(p-2)-1z-3)=0

Therefore statement is correct.
(E) Given intercepts are a = 2,b=3,c=4

H tion of plane > +2+= =1
ence equation of plane >+ 7

= 6x+4y+3z=12
Therefore statement is wrong.
24. (c) Plotting option (c) will give the required result.

25. (c¢) Increased side a; =a +(1;40%) =1.04a meter

Hence required volume

= a13 = (1.04a)3 ~kia (meter)3
26. (b) Given curvey=-x>+ 3x2+9x 27

Slope m=%=-3x2 +6x+9

e e dm
Now for maxima or minima, —= = 0
¥

= 6x+6=0=>x=-1

d*m i
Now ) . e
x=-1

— x = —1 will be maxima point.
Hence maximum slope =—3(1)>+ 6(1) + 9 =12.
27. (b)

i —sinx dx
dx=—|——
Gy J.1+cosx -‘- 1+cosx

=—log|l+cosx|+C (A — TI)

1 1 2cosx
dx=—|———dx
i jl—tanx 2J.cosx—sinx
__1_J-(cosx—sinx)+(cosx+sinx)dx
2 (cos x —sin x) :
zlj- - (cos x +sin x) B
2 (—sin x +cos x)
=£—llog|cosx—sinxl+c
a2 .2
B->1V)
tan” x
e dx =1 1
o) =Rt Sr i R T TT= dx=dt
-1
= I:je’dt:e‘+C=etaLn E Cah

I=j~—iix—— 1 logwits ~de=d
D) N, let +ogx—t:>; =dt

I=I%t—=10gt+C=log(logx+1)+C O>H
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28. (b)
(a) Arow matrix is a matrix with only one row.

Hence y =92 ~2(2)-3=-3=>(x, ) =(2,-3)

(b) Ina diagonal matrix all the elements except principal Hence equation of tangent passing through (2, -3)
diagonal element is zero. having slope m, =2 isy +3 =2(x-2)
Hence option (b) is incorrect. =>ux-y=T.

(c) A symmetric matrix is always a square matrix with . d ’ g f
condition AT=4. 33. (¢) Given 2xi—+ y= 145 = TJ% + -2—x g = T
(d) A skew symmetric matrix have all diagonal element :
T 1 1
zeroand 4T =-4. [——dx —lnx
If =e 2x = e2 = \/;
5 | cos® sin@] [ cosd sin6 :
29. @ 4 | _gno cosO||=sin® cosd Hence general solution is (IF)-y = j(7x2 YIF)dx +C
cos20 sin20 -
= i = i D 512 A% 3 2
Lsinze cos26i\ ' Jx y—_[7x dx+C=y=2x"+Cx °.
e 34. (a) a,b,c arecoplanar then [5 b 5] =0
esin(tam~1 x+oot L x) esm(g)
0 O oI e e . 1 -3iig
. esm(sm X+cos™ " X) sin[-—) x
5 . 2 1 -1|=0=>10L+10=0=>A=-1
35 IR
= i T b = T
{ tan ! x +cot 1x=~5, sin"!x+cos” x =5} 35. (d) n = Tnode-d-220\Share Folder\36 yearwisc NTA
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31. (a) -1<sindx<l1 (PCMB)\3_Math\Correction Pages
o e it dar <d , X (No. of heads)=0, 1,2, .... 7.
= 3-1<3-sindx<3+1 B
: proides
e heo
= T e P(X24)=P(X=4)+P(Xf5)
e +P(X=6)+P(X =T)
::>Rangels{z,'ij\- ¢ £ Py 15 ; b
a3 3 () B
1.8 2./ \ 2 200 2
32. (b) Given x+2y+3=0=>y= ~—x—~—2—
2 1 6 1 1 1 7 1 0.
1 el GGG
Slope my =— PY let m, be the slope perpendicular to 2) \2 2) \2
m, = mm,=—1=>m,=2. 1Y
1 (o] 2 =(E) [7C4+7C5+7C6+7C7]

Given ¥ =% —2x~3:>%=2x—2

1V[7-6:5 76
dy Ll e g
Since m2=;ix—:>2=2x—2:>x=2 2 .21 V2.4

7 7
=(l) [35+21+7+1]=(l x64=l.
2) 2 2
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